SAT A 2P 108 tht A B iR A f ECR
BEFD PR
TR L 120% (£ 1038 =524 0 £ 204 )
1L.#4 5% % &
2E4 By - T
3.5% ¥R 4 (absolute pressure)
4.+t % (specific volume)
5.4k Bk # (gage pressure)
6.'* £ & (specific weight)
7.+ & (specific gravity)
8.72 18 5 %8 T _t=(idea gas law)
9.3 > 4k & (kinematic viscosity)
10. 2 #f 7= %8 (Newtonian fluids)
’ﬁ“ ~ B fé%{ P25% (= 6%F > LAEfe AR AR R 0 £ 254 )
fahite €& (24 ) 2803 2ehfisEs 34 FoIN AP 24 (44) ?
.%@?ﬂzﬁ%vﬁﬁﬂﬁfkf/ﬁiﬁ,ﬁ B ARG 445 HAINEY 3582 (64)
3AY 2 EAFURE 2 (FAHEY 3) (34)
AR R G RO T R)Z AR EY S 2 (24)
SHH - RBETREGDILZpSLRP? (24)
6.4 THIRB Y o FIREMPBEERS AR &N LR ? GEIAAY 35) (64)
%‘?ﬁﬁiﬁ%(#6%’%%ﬁ@%ﬁ*%%’ﬁgﬁﬁﬁﬂﬂg
WAE > & 554 )
LPIGEBW TP 4pL £ FHEM GHic E=75GPa A RAEMEIRERN > F R

4 g=300 MPa % » Bt RESEZR (24 ) 2% L 1.5m> BAZ 9
B0 5@ (34) 9

2— HERE-iT4ER o BoAr 3 B4 L 500kPa BB 300K A AL 0.1md
1§ F 0 M n=152 % REALWET 150 kPaa}EJ s fe gt AR i £ chrt (KT)
S (5A) P EHAEREADL R (5A4) 2 (BEF F s ¥
R=2.07703 kl/kg-K ~ Cr=5.1926 ki/kg'K ~ Cv=3.1156 kl/kg- K) (382 %

Bhis % 3> T w BT ~)

Wy $1T 237 Uiin 7 i 105 )



3E-EEFTEREP-VE [B1] #0r - B9 2§ &> RiismE 5 100 kPa
20°C DR R S 1200 1o 2 ER2Z BB IEA S 11000 0 34
in % 10kgs (¢ 4rk=1.4 ~ Cp=1.0035 kl/kg-K) » & & :
(i TSH > £ Wt WERKEF EBER - (44)
Q) FEGEATITL (kW) 5 7 (24) 7 Fwmisrit2#kW)a e (24) ?
PRk ERF LR (24) 7

p

1'!

[® 1]

chh fa R b de [B12] #rn » KA ARz F 5% 4 % ] (Ib) ?
BB S H L T e T o~) (104)

B (@

6 ft

o
—aug]-

o

600 Ib

o ft

f—

9

)

)

T

\n’
}
I

[®2)



5.8 5K Lem b e » Sinde il Bde (W3] 97 » ¥ &dli2d £ 5 2om
Pkt SOKN 4 BT 5 s
(L) T A 4 P4 6,2 (34)
Qf iR A 2P R4 72 (34)
(B)F 42 LF KA Taow=130 MPa > B3 > & &= BB d%4x1 i 2 f /7 80 kN
R RAEE 2P ER? (44)

L L F——» 30kN

t=1 cm

AN,
af

(73]

6.5 1 i (475 i )k inde [H] 4] #7 0 4e% A(D)FcQ)E 6 i B0 S ik
B ikt REXRFHECTRZTEMYS)? (FED PSS 3
MTw AT ~) (104 )

3.6m
28m
0.5m

2 @)

[ % 4)



